41.2: a) 
 EMBED Equation.3  
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 b) 
 EMBED Equation.3  
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 c) The angle is arccos 
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 and the angles are, for 
[image: image4.wmf],

0

.

90

,

1

.

114

,

7

.

144

,

2

to

2

°

°

°

=

-

=

l

l

m

m



[image: image5.wmf].

3

.

35

,

9

.

65

°

°

 The angle corresponding to 
[image: image6.wmf]l

m

l

=

 will always be larger for larger 
[image: image7.wmf].

l


_1121353593.unknown

_1123665593.unknown

_1123665610.unknown

_1123665545.unknown

_1121353600.unknown

_1121353587.unknown

_1121006574.unknown

